igo
|

|
{
|

electnca,

In 3enem/ d

/\/&O&o/ M /'\//'AOV/'C

W / /7’7 K Cormmon nsu A‘/‘in mm{‘ﬁaj:

5- (/U H&‘/Zlm/ COVNeC”l['onjg

= 7Cm 7 We 7%0/01// desion our
Sy$7[0ms (//V/]CZK # be
/Cu:ﬁcr 744&1”) 74;/5 hence oK
#insulade.

ki
ho
f5,en

-,\ Ile ne

o0 V\\C Can msu(scLe L\O'L LAJO:“CP OmCI sqlt‘ama\flﬂoes (/U/'I[AOU

u\)om/mj anwﬁ mcreasmj EX em&l %6

‘Y/TOV]S’@P 0556 3

I’]owv c\taqu' 6[60‘){7’1&1‘ WIFES’?

7 p}om['ic insaladion o= 1om
w r = 2mm £ 13 et

A’l’H’IOjA r, <

cmL 7[7,0;&3” W&n“‘ ”’D coo/ our

wires X NOT -!)L)erm&“y ,nsul&C "%&m So us;l’g

O\ L)ﬂjer‘ or va;CLter* msu/u on w;#, o /ow&r téﬂ)r /5300421

, Heal 6‘61’16407[10»0

} Ass

!

;

10
Sfeady Shde

GDHS'ID"\"’ IOrDKOCr"-:m

Mnrg)»’m @'

T, h,

SRRt B Y e

Nm[e #)6 /)@ml 740/’)5/)6/ l’oule m’zo/ Aemé —/)/ux 1ow /766’0/
ée mns%amz w/#) /’eslafc/ 7% X,

/’)o



i

e Menod M/\// leovic

|
inl“’H’B Ou‘l’ our Ae&'l' 6%03!‘!00 (h (‘ar’pes,o\nJ

o /
&x’- v2</ * 8(27— u@-}:
. 0?@ 0 (9
o our eﬂ/uoc"ion {DeComeS;
92T + Q'—" -0 O

Lest c(o 'Hae SIMP‘QS‘L cose BC's (’Ier L.nol)
1

@lll>o
| T(x=L)=Tw
l T(X == L.B Tw
T N 'L—b ~Tw ij; =0 (Symmevlvy or msu’q—(e&)
x L—PA oro’l -I-m < mevlr #\e
-L ( L . j—%rcs -p‘zm#’)e Zv[)’t' Qr)c‘
FSH’ of the plane of < mmA
Imlggm%nj ore the same, hence 3T/ax
&lll
Axz
j 2T Jy j Q" 4y
| %— x+C,
gu—} we Lmovu E‘_ =0 C’ @)
% Iyx=o )
Imle rm‘m once. more . T(X = - Q' x” +C
\I\JC lgmw jT(x =t LB—- Tw 2k i




Nenad Mif; lovic

| w2 Q“/LZ
7'[><=L)=Tw = - %QL +G = G=Ta + 7

6 % GE(- ()

;SO w,ﬂ@re Is Tmax?

2 = ~ (OIS =0 S X=0 s the Solu“"!on
dx K.

= Tem r&%ure rm(/é
/'nsio(c/oe #,g s/ai,

LC'F’S C!’\CC[( ‘I‘p I‘“' 1S o mo\x}mum &“ X=0

2T :-—Q—N<O So T is a mox o x=o
RS SV l ( )
' N/LZ
| Towee = T2, + 8
T - ﬂt]

FIL}DW O\liU')[ /’)6&7[ —ﬁ/ux Z” ;

! no_ }Z/___ _ " 3 "L
9k 0% - [g-0%
‘Awl —qu Eoundqriesi /><=i’-§ /:L"/WL :Q,I'L/=>M&Aes sense. .

|

!Ov% r &1 S -
“fqﬁc we faJ ditferent  wall Mpmﬁxrcsi T&”Q =Ts)
We would SolUC the some mecm but T(X“'L) = Ts2
uu'nqq fhe new B.C's.

”’LZ 2 7;2’7; T Tz
R e




N@mao/ M:\// éov/l'C

E—Xam'p/c;/ p/,‘oe Lows 4 746627@ wader

T, =10, },= toowm*K

r=2em

Fon = 2.8em i = fo0Wnk
I, =5em ,l(; =2 W/m'l(
T =7 ’ ho. = 50Wm*K

/H‘ wLmL ou‘ls‘lc{c lmfarm[vre Tw, w}” 7%@, wawlcr* i %C
oipe Eejm to frezze?

\/\]6 can So’\le #\]S w}H'l our %erm&( FCS“\S’#D»’)C@ Oﬂomack

Tl 7;,‘ T;,m 75—; ) 7:0
o— V \/ v ‘A‘/\/\!k '\/\N e MAN o
T In(P4) o) |
hiA’l 2T£LmL Q'!TLt;L I’?on‘

g\/\Je linow  when #eeaﬁrﬁ chorts ot Ts,) = o°C=>nfrecag
fpo]mL o-p ww}@r.

l_e—PS Soluc —”ne 'grsil fc:g of #we res)s%ncc cj}qamm .
ol _ =T _ I0°c -0°C
Q=" - ]
Q= 125.6W hi A /o\swminj Im /o@#ée,

doesnll modHer in the ch)

!S'mce we o’or# L\qve any lvcwl‘ \96/)0&4‘1‘0:'), wé [mow 747&1[
i& IS ConsS n‘l[ N our 6/’ma/ cireuit, So o we (or

| solue Sfor  Te. @)



Nernd Mifhovic

oy (k) (ihe)
Rier hi A i il ;)zvrlf;L /+?L
| _ 1 I ‘/9'5/2 In(*/2.5 /
| (0 Grlood) * 2mlaon) | 202 )) " GVoret

= 0.0796 K/w + g.8ex10SK/w + ‘o,osvk/uu +0.064 K
5 - -~
| Jhermnl resistance. <& Thermal

ol metol resistonce

‘ of insalxfion
fm = 0.20K/w
7\/011\1 Wweé can SO/UC %r 7; ’
_ A7'—7—'D7— _ /OQC—FT;Q
A = - 125.6W = —7ph
10°C - Toe = 24.98 °C

iﬁlc’:‘f?‘éf e, we a/om'/ neeo/ 7/o worry o\éomZ our /0/' e 74)?627}1\7
umti/ the ourlsia/c air /.’eo\c/?es —~5°C. In res 19 we
pméaé/y S/;ou/c/ ao/o/ some  more }su/ov/v‘on J},ml in casé

| since. . on occasion %mferb\ ves in Lllinos can reach below 15




Nenod Mé’/{ow'c

:(\i[/;u/ar C;//[nJcr‘ wﬁl[l /’/Pc\‘lz gm&dAOﬂ

Many 74mes %6 (onm/nml éouno/qry 7Zcm/08ra74—/re Cona/néo"?
}13 MO‘/’ V&/lO/ /‘/Cre wé bw/ expo/orc 7%/8 caseé N o /’ac]/o\/

3éome

: |

JT(r) LExpecwleJ -l-c {oolc SOme:”n';rB H/ta #n‘s]
e

T

Asymphons
\/FjﬁTT?;h §&mﬁ4ﬁﬁﬁsa&

Wn‘]ﬁr’lj ou'l' our l’)eo:l’ Cci/uoc!ﬂon N VD\JIO\ ‘A)Dfm

0

ar r ’ g
r&r@‘ rze%) sz (¥az) TQ = PPEE

/é <sS
‘ QT m_

j _Z_ —Q— ar n

} r oor ( r Qr ) b

20 ) - QT (Todegale urd )

i 07( a7 ____6?_'_//,07’,\

er Je

;’2}; A" i’/z V_/Z;, #@ﬂ rote aq oun) @




_ Sihce

{ Nenad M é bovic

!

!
‘ ___=—®m C
T/r)=-—@£f: +Cinr + G

EOur éounJon/ cono/héons are o /}#/c o//ﬂ/cr&ml now

‘ I> _kg/m@ = h (T/,,,,g - 7;) [Enefﬁy bodorce o e Sur&J
) | —0 [Symety of he probem]

/21\9/\‘} O\wa7 weé C(Can SO/VC ,é,, oné oﬁ our cmmlan‘)ls,

/l’) I =o0, —//wcn C, =0 Since we Anow we. éavc o
r—o0

74’7/"/6 /m/aﬁ/ﬂ‘lélfﬁ.

' o s s #: our solthan
I7};6 Her wa77los%c # o ‘9};0,0/7’ BC#2 4o thien
al o C
O lyes @ﬂ@f )
L::, berce Hhe onzf Lay this worls is ¥ (=0

NOV\J we 070,0/7’ 6(\#7 720 our eg/ua‘/lbﬂ'
7%) - -Qr G,

He

_[Lé']; =+ZCQ"’K _ _Q‘"IQZ
9”/r=e 2 g

—/— Z@“'K }’leez ]:

h[ 2/ ;_—_Mc AK+/17:° G ,
1/ Q" - = Uone .
h[T(/+ZZ)+ATm] C, =

€D



